Financial Maths Lesson 8

March 11, 2013

7. Malcolm needs €400 per month, for 3 vears, while he studies at college.

What amount of money do his parents need to invest, at 6.6% p.a. compounded
monthly, to provide the money that Malcolm needs?
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7. Malcolm needs €400 per month, for 3 years, while he studies at college.
What amount of money do his parents neced to invest, at 6.6% p.a. compounded
monthly, to provide the money that Malcolm needs?
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Financial Maths Lesson 8 March 11, 2013

7. Malcolm needs €400 per month, for 3 years, while he studies at college.
What amount of money do his parents need to invest, at 6.6% p.a. compounded
monthly, to provide the money that Malcolm neceds?
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4. Your local car dealer offers you two different payment plans to buy a €15 000 car.

Plan A: A 10% discount on the price of the car and a loan on the balance at
an annual rate of 9% for éears.

Plan B: No discount but a loan for the total price €15 000 at an annual rate
of 3% for 5 years.

‘Which plan should you opt for?
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4. Your local car dealer offers you two different pavment plans to buy a €15 000 car.

Plan A: A 10% discount on the price of the car and a loan on the balance at
an annual rate of 9% for 5 years.

Plan B: No discount but a loan for the total price €15 000 at an annual rate
of 3% for 5 years.

‘Which plan should you opt for?

Plau\fs A= ISDDO(O-oz)(l-os)g
(lo2)s = |
A= P ()+)"

(+H)y'-1 | = € %235

Comment * Plan B s belfet Value




	Page 1
	Page 2
	Page 3

